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f298197 1 TEUNTIMLEAIRIADUTDITIUUALATS  3X - v = 3
X +y =2
PRtk X -y =3
y = 3x-3
X -2 -1 0 2
y -9 6 3 3
X +y =2
y = -2X+2
X -2 -1 0 2
y 6 4 2 2
3x-y =3
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A29819%1 2 N UTUNTINUEAIAINBUVBITEUUANNIT X -2y = 1
2X -4y = 2
Ptk X -2y = 1
1 1
Yy = —X——
2 2
X -2 -1 0 1 2
y -1.5 -1 -0.5 0 0.5
2X -4y = 2
1 1
y = —X77
2 2
X -2 -1 0 1 2
y -1.5 -1 -0.5 0 0.5
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A298199 3 WRUTIUNTINUEAIAINBUVDITTUUANNNT 3 =2y - 6

2y - 3x = -3
309 3 = 2y - 6
3
y = —x+3
2
X -6 -4 -2 0 2
y -6 -3 0 3 6
2y - 3x = -3
3 3
y = —X—=
2 2
X -5 -3 -1 1 3
y -9 -6 -3 0 3
y
+ 3X = 2y - 6
2y - 3x = -3
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